Prime Factorization and Least
Common Multiple

Factors

Prime Number

Composite Number

Prime Factorization

Factor Tree

Find the prime factorization of 80

Find the prime factorization of 63

Find the prime factorization of 252
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Find the prime factorization of 126

2 12 1 Prime LL L _Prine
3 13 Prime 12 1,234,612 Composite
4 1.24 | Composite '1 LS RAE] Prime
5 15 : Prime 1% 127,14 Compansite
] 1,236 Composite | 15 13,515 Composite
7 1.7 ] Prime [T 124816 Compasde
| s 1248 Compasite L 117 Prime
| o 139 Composite [ e 1,2.369,18 Compoaite
| 1w 12510 Compuosite [ e 1,19 Prime
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Common Multiple

Least Common Multiple
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Using prime factorization to fing
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Find the prime factorization of 294. /\
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Find the common multiples of nd 24. Find the LCM.
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LCMm=74

LCm =0

Find the LCM of @ando using the prime factors method.
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Find the LCM of 24 an@36 using the prime factors method.
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Summary
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Carl purchased a new house. The cost of the house was $253,926.
The bank wrote a check for the house. Write the purchase in words.

Julia is building a workshop on her garage. The addition will cost her
$15,532. Round the amount to the nearest thousand.

N
Hamburger buns are sold in packeges of 10. are sold in
packages of 12. What is the smallest number of that makes the buns
come out even?
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What you will learn about:
How to Use the Language of Algebra

Use of variables and algebraic
symbols

Variable

Constant

Supposs this year Greg B 20 years oid and Alex s 23, You know that Alex 5 3 pears older then Oreg. When Creg wes 12, Alex wes 15
Whan Greg = 36, Alax will be 38, No mattor what Greg's ago s, Alex's age will slways be 3 years morg, right? in the language of
algebra, we say that Gmeg's age and Alex's age a= varlables and the 3 s & constant. The agas change (“vary”] but tha 3 years
Detwoan tham Liwys ataya ths sama (“*oonstant”). Sinca Grag's age ond Alscs a8 will aiways differ by 3 yaors. 3 is the consant.

In pigebm., wa uaa lettors of the aiphabet to repmsent varinbles, So if we call Greg™ age g. than we could usa g + 3 to mprenond
Alax's age. Soe Tapls 1.3

The four basic operations arithmetic operations:

Greg's age

subtraction, multiplicatioin, and division.

Operation
Agnon
Subtraction

Multpicstion

Dhivision

Alan's Bg8

addition,

Notation Say: Tha result is...
a+b a plus & tha sum of 2 and &
—
a=p aminus b the diterence of & and &
—
a-babalihb), atmesb the product of 2 and b
ladb, a (b)Y
a+ b, alb, :hﬁ & dvidad f’ﬁguweﬂtda and b, & s called the dividend, @nd b i3 called
byb the divisor




Equality

Inequality
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EQUALITY SYMBOL

a = b isread "a s equal to b

Tha symbol "= i5 callad the egual sign

On the number line, the number gets larger as they go from left to
right. The number line can be used to explain the symbols “<” and

i n
>,
INEQUALITY
a < bis read "o 1w bess than b
1 % 4o the lefi of & on the mimber |
a b
a > b is read “a i grester than b
& is 1o the right of & an the number Line
+
b a
Inequality Symbols Words
a#b i =% nol equal fo b
b il i% fess than b
a<h & % s than or egual o b
asb a ks greater fhan b
a2z b i % preader Hu or ecqual fo b
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Grouping Symbols
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Expression

x|

Numkif, U&r:hblg &er

Colnla;ag.'(.'v"'l QL Numb

a.not ver:ubles L“:hb
Dpcn.'é:.m Sy-\lb-"!s

Equation

TWO expre 25 /om s
connected b-{

Ezhgls S-bh.

Tanslate from algebra to English

17 <26

Seueabeen ib Less o~

etknl bo bwm"y-%-}(

12 > 27 +3

@of Grouping Symbols

. Pﬁfﬁn'u“ﬁ&
® rsﬂ-v,&l't:’

o Braces
L] Hbso‘wh. Ur..lu.t..

L] Fﬂ.o{;-q. &r

8+17-3
E:bl:i s e b gl bo
Sewenbren munes 3

y+7<19

English Phrase

the sum of throe and frse
the diflersnce of /7 and ore
the product of six and savan

the quotsant of x and ¥

Expression Words
I+s I phs 5
m-1 f Minus one
6.7 G timea T
15 - X dividad by ¥
SX¥542x 17
SxHIY
Equation English Sentence
14+8=§ The sum of throe and fum is aqual o eight
n=1=14 n minus onn squals fourieer
6:7=42 The product of six and seven & equal 1o foy-two
r=13 ¥ Ig equal to fifty-three

¥ plus nire 8 equal 1o twa y minus threa
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Exponential Expression

Order of Operations

f

P
A
D
A
S

2(x+3)=10
61[,.&':-‘0?\

x =+ 25
Exfl'ﬂ%-'oﬂ

G-~ base

n- C.ﬁlﬂwﬁt

PEMDAS
Pﬁ{gutk";b

Exf"‘"{-:’
Mo lb Lebt 2 )b

Div

nA/ Lebb anight
5i%‘b‘h¥ﬁ>

12—-5-2

[3-10

A

Determine if each is an expression or and equation.

4(y—1)+1

E Xprese on

y+8=140
E"t,w‘l"""l
-
G = a-a-Aa

bs—: b'bbbb

GEMDAS
wau.r.;l.'nb

(12—-5)-2
(1)-2
14

llfi'w-




Simplify: ,f";») 16,3, %S_J"S'

,5 18 +6+4(5-2) 5+2¥+3l6-3(4-2)]
/8= L FY(y) 5,‘,25.}.':5[6-}(1)]
3+ s++s [e-¢]
Is” 5‘-}-25 ‘l"}(,b)
5+9+0
110 15 L,
9+53}— [4(9 +3)] 72 -2[4(5+1)]
f+s” - Laox) 772 L4)
>
157 43 =26
G+1285-49 Lﬁ_:(gq)
gl -4
Evaluate an Expression Evaluate 7x — 4 1
Whenx=5 Whenx =1
(s)-Y TeD)-Y
3) 3
Evaluate x? and 3%, when x = 4. Y 22
(.'1.)1- = 16 27 =35
3 = §l
Evaluate 2x? + 3x + 8 whenx =4
200 5(4) + 8
() + 12 +¢
_ A +IAFY
i YUYy

Sa




Term - Cdnsé&n“‘-‘ or
pnolud: el o consi,

S G x

Auul one ar meve Vel I..r,

Coefficient

Like Terms

P&f'l:_-,

S{,m:. cxect varichle

a) 14y

14

Identify the like terms

4x? +5x + 17

| xzy 6?

3xB5

Identify the coeffiecent of each term

b) 15x?
N}

2@E w2 b

9,2x°, y*,8x7 15,9y, 11y°

Idenify the terms in each expression

LZ teims

c)a

5x + 2y
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